
 
B

n A 0,5N
N lo D G

l a B biz
8 I

x L 2,0G xas.µ3 x
x H E 4,6

i n F

45678 F 5,2
c

G Ga3 figure bearings are measured
H y z

clockwise from North

The wood FROM tells you
I 8 7

where to put the protractor to
measure

1 Find bearing of C from A 1580

2 Find bearing of A from H 2860

3 Find bearing of G from C 0240

d Find bearing of G from D 0900

5 Find bearing of Efron I 2560

6 Find bearing of C from G i 2040

7 Find bearing of F from I 2110

o
8 Find bearing of I fro B 126
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1 Find bearing of 13 fromA 90 tan Io 1170

2 Find bearing of D from C 1800 tai 1980

3 Find bearing of A from D 2700 Eai E 3330

4 Find bearing off from E 1800 tan Io 2020

FookTasks for students failing to complete
FindA1
sin400 JIota g
8 sin40 i g

since z
to y 5.142
5 142sin Io

G 30.90
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Find x

vs x

y 72 252
320

y2 252 727cm
y 576

sin320 2 4 y 5576
X y 24 cm

sin320 24

x 24
57320

X 4.5 3 am


